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U 12.5 & 12.6 Word Problems

€s Sunday’s high temperature qf@ﬁ%waa att ﬂeéasﬂ:@ﬁ% hiigghar than
Monday's high temperature.What was Monday's high temperatura? |

Sunday’s high was atleast 40°F higher than Monday s high,
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2. Inorder for a field trip 1o be scheduled, at Ilaasﬁ%ﬂru:ﬂa-ﬁﬁa
must sign up. So ’Ea:rs@;ﬁud‘&mﬁ have signed up. At lgast
() | how many more students must sign up in order for the field )
trip to be scheduled? | -

variable ’)(/ :_:tk': C}P 5’\’@%“'\'6
Inequality /X—'_#'Z% 2‘ %O Solution set__ ’X/Z —7
_2 % _>——-2' 6 " Answer phrase d‘:E Qﬁﬁ“‘ _{ ‘5’1
L=
5 Consurmer Math To get a group discount for baseball tickets, Marco's

group must have at lea@peoplte. The group needs at ]ea@nme
people to sign Up:K'H(}W many have signed up so far? |
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ﬂr Mila wants to spend at least @%n a classified ad in the newspaper. She
’ has @Jw much more does she need?‘}__
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5 it cost the Schmidts $517) to raise watermelons. How miarny
“ E@iaterma@!lﬂm must they sell at $5 apiece 1o make a profit? |
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It cost DEiI’CﬁFE $212 to make candles. How many candles must she sell at
("éﬂjﬂpi&ce to make a profit? - -
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@ It cost the Wilson children $55 to make lemonade. How many
glasses must they sell at 75¢ each to make a profit?
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8 . Attendan ﬁ}@t a museum more than tripled from Monday to Saturday. Un
¥,

Monda eople went to the museum. [How many people went to the |
O museumn on Saturday? S
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12.7 Word Problems

5( , The83 jnembers of the Newman Middle School Band are trying

to raise at leas $5.000 %o buy new percussion instruments. They
have already raised $850. How much should each student stﬂw

\'r“"g‘am g, On average, 10 the goal?

) Let o represent the average amount each student should sﬂ]ﬂl raise.
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o, Sun-Li has($30)to spend at the carnival. Admiss@ﬂ_is@and_ each ride
costs($2]What is the greatest number of rides she can ride?

-
Let r represent the number of rides Sun-Li can ride.
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[[. Margie has $1U (She wants 1o buy a book fcmr/(_ﬁ 20 and
some CDs 167 §15 pach{At most, how many DD‘/c:éFﬂ
&dlargﬁe buy? T
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|7 Manny peeds to buy@nr]k shirts that are each the same price. After he
uses @1&: certlflcate, he can spend no more than iﬁ)‘ﬁi at is the

Ela}ﬂmum amount tha St carn coste
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| 7@44
Rico has $5 00/ Bagels ccuseach and a small container Df cream

cheese costs $1.00. Whiit is the greatest numbér of bagels Rico can buy
- if he also buys one ‘small container of cream cheese?
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